
PRACTICE SET -1



In the questions given below, a sentence has been divided 

into four segments. Rearrange the parts in order to form a 

meaningful sentence and mark the respective option as 

your answer.
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A. smoothing out many of the issues arising from.

B. the mode of remote work witnessed.

C. during the first two years of pandemic.

D. this allows greater interoperability and is successful 

in.

1. DABC

2. ACDB

3. BADC

4. CBDA

5. No rearrangement required.
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A. the ability to give money or use science to solve.

B. the places where you have the resources and.

C. from where the problem is.

D. these problems, are often very distant.

1. DABC

2. ACDB

3. BADC

4. CBDA

5. No rearrangement required.
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A. from concierge to adviser.

B. the seamlessness of user experience improves.

C. as technology progresses and.

D. the role of digital humans graduates.

1. DABC

2. ACDB

3. BADC

4. CBDA

5. No rearrangement required.
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A. The novel is marked by long sentences.

B. before merging into the ocean.

C. an emotion or an incident collapsing onto the other.

D. a stream traversing a long journey through mountains.

1. DABC

2. ACDB

3. BADC

4. CBDA

5. No rearrangement required.
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In each of the following questions, a sentence has been 

divided into four parts, it may or may not have an error. 

You are required to choose the option which is 

grammatically or contextually incorrect. If the sentence is 

grammatically correct, choose option E ie., No error.
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Government entity as well as (A)/ private organisations

are (B)/ supposed to submit their (C)/ credit and debit 

reports within a month (D)/.

1. A

2. B

3. C

4. D

5. No error.
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Because the productivity of (A)/ even white-collar jobs 

will now (B)/ be greatly enhanced since (C)/ the next two 

or three years (D)/ No error (E).

1. A

2. B

3. C

4. D

5. No error.
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A hybrid mode of work is now preferred (A)/ by many 

companies, which employees work (B)/ to a roster, 

working from the (C)/ office and home on alternate days 

(D)/ No error (E)

1. A

2. B

3. C

4. D

5. No error.
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Hardly, no trip to the hills was complete (A)/ without a 

walk down Mall road and (B)/ a short ride on those toy 

trains which chug (C)/ along lazily curving along the 

hillsides (D)/ No error (E).

1. A

2. B

3. C

4. D

5. No error.
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Given that sunlight is the (A)/ primary source of it, those 

who does (B)/ not spend enough time outdoors are at (C)/ 

a greater risk of vitamin D deficiency (D) No error (E).

1. A

2. B

3. C

4. D

5. No error.
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In the following question a phrase has been given in 

bold. It may be grammatically or contextually incorrect. 

You have to replace the phrase with the correct phrase 

from the following options.

LIVE QUIZ – DAY 4



Our government will keep support efforts in make India a 

defence production hub.

1. support efforts for.

2. supporting efforts to.

3. supporting efforts for.

4. giving support efforts to.

5. No replacement required.
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Transactions between such entities has to be disclose on 

regulatory and public fillings.

1. had to be disclosed with

2. have to be disclosing in.

3. has to be disclosed with.

4. have to be disclosed in

5. None of these.
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I immediately realized that he may not understood what I 

was asking.

1. may not understand.

2. he might not understand

3. will not understand.

4. would asking for.

5. None of these.
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In the following questions four words of the sentence are 

marked in bold, which may or may not be correctly spelt. 

Option corresponding to the misspelled word is your answer. 

If all the highlighted words are correctly spelled, choose the 

option E ie., “All are correct”.
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A hung mandate (A) becomes a fertile (B) ground 

for some governors who are happy to play the 

puppet (C) in the hands of an overbaering (D) 

centre.

1. Mandate

2. Fertile

3. Puppet

4. Overbaering

5. All are correct.

LIVE QUIZ – DAY 4



The suspense (A) was enough for an exidus (B) to start 

from the government, which is presumably (C) what the 

governor intended (D).

1. Suspense

2. Exidus

3. Presumably

4. Intended

5. All are correct.
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A governor who is expected (A) to be non-partisan 

cannot function (B) in a way that precipitates (C) a 

crisis and leads to the topling (D) of a duly elected 

government.

1. Expected

2. Function

3. Precipitates

4. Topling

5. All are correct.
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THANK 
YOU
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